7 n 7
(&J +(&j +(&J >3 MOM NIEIPNY-IN
l//a l/lb Wo

D
plabc)=a,-a+p,-b+y,-c
y(abc)=a,-a+p,-b+y,-C

oNWw AL >0 o Lo+ B+ =0, + B+ Y, TR
A-plabc)+u-w(abc)=a+b+c
7N
¢, =9(ab,c),p,=¢(bca),p, =¢(cab)

v.=y(abc)y, =y(bca)y, =y(cab)
(ARTI TARY 9201 TN K2 NONR) @, 0, 0, W, W, W, >0 -w 19X a,b,c -2 7oy
X277 200 MITPNW-K 2 11020

n n n
BEREEEIE
l/ja l//b l//c

0PN 12 7MWK N PR A0 1R
.0°1°107 02PN 13T DR 772172 IWOR P2aR L1101 70 RY 7

0<ab,c %My ,>wn?

oa Vo (2b Y5 ( 2¢
e IR e N e
(b+cj (c+aj (a+b}
#b+c+#c+a+#a+b23
2a 2b 2c
1 mpw

AP +BP +CP 23w 0<a<f ovpnm A +B“+C* >3 ox

a-A+(f-a)1_, AV 1he e
(el )

D21 717 07 MIPMW-K 3 0501

S0

a-(AP+B° +C%)+(B-a) 3
( )('B ) >A"+B"+C“ 23

B
197
a- (A +B’+C)+(f-a)-3238
a-(A+B+C")23a
AP+ B +CP >3
S"on
17 21, 297 ,n00 Awyn? 1R (*) nRoMon 7 =177, >0 M2y 1217 ax 19N

U
A+u

.n= T2V A1V DR 70N



2 v

Y7
(gjﬁg (2+1)9
Ao+u-y

=210
:NINR 77K 12OV PPNW-R DR PNV

Loruy, ¢ Y

(A+u) ¢%+ﬂ

(A+n)
D" T
PN
(e
l//a l//b l//c
A (Atm)e  (AtH)e
Ay, A@rpy, A@tuy,
_(A+u)(p+p,+90.) _3:-(a+b+c) _
a+b+c a+b+c
higiohty B lm))
vown
.ompnn (%) TrMw-R IR 72> A fah
A+u

0< a,b,c 53 1My 2% n
oa Yo (2b 53 ( 2¢
o) ) () =
b+c c+a a+b
#b+c+#c+a+#a+b23
2a 2b 2c
J a +J b +J c >2
b+c c+a a+b
AP +BP+CP 2 A"+ B +C* x 0<a< B ovpnm A +B“+C” >3 ox

+5

2

m@mnmm¢=1

/o o e
(cf)_aj +(¢_bj +[¢—Cj >
b+c c+a a+b

tht



